
Unit 1 Factoring Polynomials of the Form Factors and Products 
𝑎𝑥ଶ + 𝑏𝑥 + 𝑐 

Assignment  Handout  Quiz Next Day! 

 

Name: ______________________________      Date: ___________________ 

Learning Goal 1.2 Factor trinomials of the form 𝑎𝑥ଶ + 𝑏𝑥 + 𝑐. 

 

 

Factor the following expression.  Expand your answer to check your work. 

a. 2𝑥ଶ + 15𝑥 + 7 
 

14 × 1 = 2 × 7 = 14 
14 + 1 = 15 

 
= 2𝑥ଶ + 14𝑥 + 𝑥 + 7 
= 2𝑥(𝑥 + 7) + (𝑥 + 7) 
= (𝑥 + 7)(2𝑥 + 1) 

 

b. 2𝑥ଶ + 5𝑥 + 2 
 

4 × 1 = 2 × 2 = 4 
4 + 1 = 5 

 
= 2𝑥ଶ + 4𝑥 + 𝑥 + 2 
= 2𝑥(𝑥 + 2) + (𝑥 + 2) 
= (𝑥 + 2)(2𝑥 + 1) 

c. 6𝑥ଶ + 7𝑥 + 2 
 

3 × 4 = 6 × 2 = 12 
3 + 4 = 7 

 
= 6𝑥ଶ + 3𝑥 + 4𝑥 + 2 
= 3𝑥(2𝑥 + 1) + 2(2𝑥 + 1) 
= (2𝑥 + 1)(3𝑥 + 2) 

d. 8𝑝ଶ − 18𝑝 − 5 
 
(−20) × 2 = 8 × (−5) = −40 

(−20) + 2 = −18 
 

= 8𝑝ଶ − 20𝑝 + 2𝑝 − 5 
= 4𝑝(2𝑝 − 5) + (2𝑝 − 5) 
= (2𝑝 − 5)(4𝑝 + 1) 

 

e. 24ℎଶ − 20ℎ − 24 
= 4(6ℎଶ − 5ℎ − 6) 

 
(−9) × 4 = 6 × (−6) = −36 

(−9) + 4 = −5 
 

= 4(6ℎଶ − 9ℎ + 4ℎ − 6) 
= 4൫3ℎ(2ℎ − 3) + 2(2ℎ − 3)൯ 

= 4(2ℎ − 3)(3ℎ + 2) 

f. 3𝑠ଶ − 13𝑠 − 10 
 
(−15) × 2 = 3 × (−10) = −30 

(−15) + 2 = −13 
 

= 3𝑠ଶ − 15𝑠 + 2𝑠 − 10 
= 3𝑠(𝑠 − 5) + 2(𝑠 − 5) 

= (𝑠 − 5)(3𝑠 + 2) 

 

  


